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Time : 45 Minutes
[ For Blind Candidates Time : | Hour )

INSTRUCTIONS TO CANDIDATES

Read the following instructions carefully
before you open the question booklet.

1. Answers sre to be given on a separate
answer sheet [DMR sheet),

2. Please write your Roll Number as allotted to
you in the admission card wvery clearly
on  the test-booklet and darken the
appropriate circles on the answer sheet as
per instructions given.

3. There are 50 questions in this test, All are
compulsory.

4. Please [ollow the instructions given on the
answer sheet for marking the answers.

5. IF you do not know the answer to any
guestion, do not waste time on it and pass
on to the next one. Time permitting; you can
come back to the questions, which you have
left in the first instance and attempt them.

6. Since the time allotted for this guestion
paper is very limited, you should make the
best use of it by not spending too much time
On any one gquestion.

7. Rough work can be done om the given
Blank Pages at the back of the booklet
but not on the answer sheet/loose paper.

B. Ewvery correct answer will be awarded one
mark. There will be no negative marking.

9. Please return the Answer sheet [OMR)
only te the invigilator after the test.

10. Hindi version of the guestion paper will be
considered as final in case of any dispute
arising out of varation in translated version,

PLEASE TURN OVER THE PAGE AND START
YOUR WORK.

Max. Marks - 50

THT : 45 foAE
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difgen Fraar aitar
MENTAL ABILITY TEST
T WA-TH § FH 50 U E | Wedeh WA UE 3 FH1E |
THERE ARE 50 QUESTIONS IN THIS PAPER.
EACH QUESTION CARRIES ONE MARK.

U (1-4) / Questions (1-4)

Frder - w7 19 a7 wow A oF waw-aon @ e 8, feed g T eE # el v gew
fom (7) & zatar wn & 1 4w w2 ww A0R ¥ S fed o ww frwedi # W T 2 T e A
I |

Direction : In each of the questions 1 to 4 some of the lettcrs are missing in the
given series with one term missing shown by question mark [ 7 ). This term is one of

the alternatives among the four groups of letters given und Find lhe right
alternative,
1. BEG, DGIL FIK, HKM. ( ?)
(11 JMO (2] KMO
(4} JML (4] JNP.
2, KEM. IDL, GCK., ( ? ). CAl
111 ECJ (2) EBK
(3) FBJ 4] EBJ.
3. ca(?)cab(2)ab(?)(2)bc(?)
(1} beecaa (2] accab
{31  bacaa (4) abaca.
B;;%JL'_‘MF. LDOG, NEQT, ( ?)
,...-; (1] PFSJ (2) PESI
[3) PESK (4] PFSK.

9 (5 - 8) /Questions (5 -8 ) 1

Frdwr . w91 83 8 7% weum § ww wew-avi 4w ¥, Fowd F9 v mam § o v s
fag (7) & =of@ T & | =E w2 W 400 F AR F vd uw fawedi F @ uw ) W e 90
Hifa, |

Direction : In each of the questions 5 to 8 some of the numbers are missing In

the given series with one term missing shown by question mark ( ? ). This term is one
of the alternatives among the four numbers given under it. Find the right alternative,

5. 5, 10. 17, 26. 37. 50, (?)

(1) 70 (2) 66
(3] 65 (4) 64.
NTSE(l)/14 - MAT [ PTO.
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6. 6.25 62, 123.(72). 341

P

(11 216 2y 214

3] 215 [4) 217.
7. 5.3.10.8,17.15. (7). 24

(1) 26 (21 27

@ 29 (4} 36.
8. 2.6, 12,20, 30,(7)

(1) 40 2y 42

(3} 44 (1) 46.

U7 (9 - 11) /Questions (9 - 11 1

fader : 1 wers W A 2w o A Fred 1 s mfer e § ) Al TR T wEE A
A s 2, A 9 3 et aed & i v 39 € | fl! @) g a8 49 Hio B wE-w
Frexd fen T WAl w1 oF 94 FY 8 e Fa ¢ |

Direction : In each of the questions below are given two statements and two
concluslons numbered I and I1. You have o take the given two statements (o be true
even i they seem to be at variance from commonly known facts, Read the

conclusions and then decide which of the given coniclusions logically follows from the
two given statements, v

G, A 0 - o faed O €
@ : FOUHATAE |
frend @ ; wfEEE A E
ay ;% T e E
(1) Few frad 159
(2) e fd HEA
(3) 2 e 13l nEe E
@) A9 Frard 1o @ fed nESE
Statements (i} Some books are pencils.
1] B " Some pencils are pens.
Conclusions (1) : All books are pens.
{If. Some pens are books.
(1) Only conclusion lis true
(21 Only conclusion Il is true
|3 Conclusions I and 11 both are true

i1 Neither conclusion 1 nor conclusion Il are true.
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(1)
12)

(3) 2l Fred 3w
(4) T Frepd 1o 9 P nw g
Statements (1) Some men are educated.
[ Educated persnﬁs prefer small families.
Conclusions (1) : All small families are educated.
an Some men prefer small families

(1

(2)  Only conclusion Il is true

(3] Conclusions [ and Il both are true

(4) Neither conclusion I nor conclusion II are true.
11. a7 W : FeufdmE

(5)

10. =4 ; B : Fo=Aw T
@ @ s sE S o e E
| e fi

0 : | ore ufar finfem #

(I : %% =ate 2 ufen wwE w5 F
Fam frepd 1 &
#wae ferd e #

Only conclusion I is true

W : w\RTEEZE

Frreend m : FeaEEaitEiE

(1)
{2)
13)
(4)

(m : FogfaasE
| Frad 1w R
Faet Frad 11w 2
a1 Frewd 13l nwm
F Frepd (e @ Femd nom

Statements (1) Some hens are cows.

iy All cows are horses.

Conclusions (I) Some horses are hens.

(1]
(2)
(3)
(4

am : Some hens are horses.
Only conclusion | is true
Only conclusion 1l is true
Conclusions 1 and II both are true

Neither conclusion 1 nor conclusion I1 are true.
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W9 ( 12 - 13 ) /Questions ( 12 - 13)

frdor ;W 12F 1343 fea M foa s ¥ 38 fas 8 7 T U, ATH Bt
m;ﬁ:ﬁﬁﬁﬁﬂrﬁaﬁfﬁﬁﬂ.ﬁﬁﬁﬂﬁﬁﬂﬁﬂﬁﬁmaﬁﬁﬁhmﬁ | e W
Fo ) 200F |

Direction : Questions 12 to 13 arc based on the following diagram. In this

diagram there are three sets U, A and B. which represent the married persons.

educated people and teachers respectively live in a colony. The total population of the
colony is 300.

1
-]

U~

A

12, e o e =T &1 e ¥
Number of unmarried persons in the colony is
(1) 40 2 112
: (3 124 4) 125.
\q. e o fofui = e 0 ferF @1 €, ©
‘g Number of educated people who is ol teacher 18
{1y 120 2y 122
(3 124 (4) 125.
14 ﬁmﬁﬂaﬂﬂ-mﬁamwﬁf.ﬂﬁ@fzﬂtaﬁaﬁaﬂuﬁmﬁuﬁﬂm% ?
Which of the following Venn diagrams correctly represents cows, horses and
animals 7

(1) 2 @ O

frot §f @ FH-A 39 AT A, T mwﬁwﬁmﬂuﬂﬂm% ?
which of the following Venn diagrams correctly represents rectangle.
quadrilateral and polygon ? :

» (OO @ @O_
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e e 9 w9 I fafan

Direction : In questions 16 to 19 three alternatives are alile in a certain way but

the rest one is different. Find out the odd one and write correct answer,

16.

17.

18.

19.

(1) AEIF (2] CGKH

(3) EILJ (4] GKOL.

(1} XcCJrp (2] YEKQ

(31 ZGLT (4)  AHMV.

(1) 150 i2) 165

(3) 200 4 250.

(1) S9&T / Coal (2) AWEZ / Graphite
(3) #W / Diamond J4) #=m o Gold,

W (20 - 21 ) /Questions ( 20 - 21 )

ﬁéﬂ:wqﬁ#ﬁﬁﬁtﬁmﬁm 18 6% a1 "= sifrq £
Direction : Numbers from 1 to 6 are placed on different faces of the disc.

1

20.
e 3% favi ye w aie- o dem it 2
The number on opposite side of the face having the number 3 will be
(1) 5 2) 4
(3 2 4 1.
e 3% AT ys W wN-@ e a0
The number on opposite side of the face having the number 3 will be
(1) 1 2) 2
3] 4 (4) 5.
NTSE(I)/ 14 = MAT ) [ P.T.O.
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mmz—n]fﬂnuum[:u-m]
ﬁn:ﬁﬁm#ﬁfﬁqﬂ‘aﬁmaﬁmmmﬂ%mmt

Direction : Give answer on the basis of given figure that the different faces are
folded in the form of cube.

6

22. 2 3 4 5

1
e 4%mmww—ﬁtmﬁrﬁ 7

The number on opposite side of the face having the number 4 will be

(1 1 2 2
@ 3 ‘ (4 4.
F D
C
23. B
A E

Ei F ¥ T U W EE W SR T 7

The word on opposite side of the face having the word F will be

(1) B 2) C

@ D (4) E.
mlil-‘zT]}Qnuuumtzd-ﬂ'r]

ﬁh:m:ﬁaﬁ%ﬁaﬁﬂwwﬁmw#mmmnﬁ
ﬁﬁﬁﬁﬁmﬁﬁmwatmmﬁﬂm#wmﬂmmmmm
mqﬁmwﬂ'mm?ﬁﬁfﬁm%ﬂﬁﬁwﬁmmﬁm

Direction : Words in capital letters in Column 1 are written in English small

letters according to a code language in Column II. Decode the language and find out
the correct alternative for the given word in each gquestion.

T 1 /Column I Tl 11 /Column II
ONE cdy
TWO sgd
'HREE Isqyv
FOUR datg:
FIVE zmfy
SIX rmh
NTSE()/ 14 - MAT .
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24. NET
(1) dys 2} eys
(3) 1tes (4) csd.
25. FOX _
(1}  ydh (2) dhs
[B) =zdh 1) zgl
26. HER
(1) lge (@) lyg
(3 Igs | 4)  gle.
27. SHE
o 0] 2 rey
(3) rsy (4) vet.

W¥3( 28 - 30) /Questions ( 28 - 30 )
Fﬁw:ﬁﬁrﬁfﬁaﬂmm#mmmﬁﬁaﬁ 13 nfewm & |

Directions : In each of the following questions a statement is given followed by
two conclusions I and II.

BS/ WU : : wioge witfeafmal safs 5 afgom o &
\ fored m : wafzEE R E
@ (I : =afe %z wvE | dam b

(1) *aa frewd | e £

(2) Fo= Frad (1ae

(3) = e 13 Eem #

(4) 7 Frawd | sl & fred nwe €

Statement : Adversity makes a man wise.
Conclusions (I) The poor are wise.
(I Man learns from bitter experience.

(1) Only conclusion I is true
(2] Only conclusion 11 is true
(3} Both conclusions | and Il are true

(4] Neither conclusion I nor conclusion Il are true.
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29.

30.

31.

YA . W BEH SAtwal & WY wA e |

e m - wEEW & o SifEa 39 S oo
() s s g R ued wE an

(1) FFe froed 1T

(2) Fee Frepd 1FE R

(3) = fed 13 HEAE

(@) = Frewd |3 @ el nEeE R

Statement : Fortune favours the brave.
Conclusions (I) Risk is necessary for success.
(I Cowards die many times before their death.

(1}  Only conelusion [ is true

(21 Only conclusion Il is true

(%3 Both conclusions | and Il are true

(4) Neither conclusion 1 nor conclusion II are true. -~

HAT ; . HEE e e o fen e

Forerd M - Wit v sl e ymw & e e E
() ;I WEW EEETE T

(1) @ fred 1o &

(2) e faerd nEE #

(3) =Fi frerd 13 N €

(4) = Frepd (e A € Fremd nEm R

Siatement : Morning walks are good for health,
Conclusions {I) : All healthy people go for moming walks: )
(m Evening walks are harmful. D)

(1) Only conclusion 1 is true
(2) Only conclusion II'is true
(3) Both conclusions 1 and Il are true

{11 Neither conclusion | nor conclusion [1 are true,

ciro A 1 foet & A9 v, e W O & ) T F v | o wead § 7
Rauesh is [ather of Mohan and Shyam is son of Mohan. What Is the relation

between Ramesh and Shyam 7
(1) 9% / Son (2) Wi / Brother
(3) =@ / Grandfather (4) T / Father. |

NTSE(I)/ 14 - MAT
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32. Bewmfmifeq Cc.BR @2 | c% BY s wmin & 7 /

B is father of C but C is not son ol B. What is the relation of C with B 9

(1) 974 / Sister (2) 9% / Brother
. 8 T / Daughter (4) WA / Nephew
83.7 WM 23 + 52 =48%, M43+ 35 =7
If 23 4 52 =48, then 43 % 35 = ?
(1) 78 (2) 98
3 96 (4) 69,
34. 3f Frfafen densl #1 awet wu 9 foa w0, & 9o § 93 3 den & A T A
£l
Il the following numbers are written in ascending order, the sum of the digits of
middle number will he 3 é i
810. 912, 910, 809. 781. 673. 573
1 9 2) 12
- B8 17 (4) 18.
85, 7 & e st W fmen F w0 A T B 3 F o S e 68 afen A A § 7
e 2
;: How many 3s are there in the following figure series which are just preceded by
3 6 but not immediately followed by 7 7
323?43563?46389535183?’24255395
1 1 2) 2
5 (3 3 4 4.
36, Tl e e A St A A A ww A A T s
Which name will come at 3rd place in a telephone directory from the following
gihven names ?
(1)  AMIT (2) AMINA
(3) ALOK (4) ABHIMAN.
37. afT 1 e F AW &, A 1 TEER T oFE-w A w2
I 1st Oclober is Sunday, then 1st November will be
(1) HH&ER / Monday (2) WTEEW /- Tuesday
(3) F99R / Wednesday (4) THFER / Thursday.
38. =i 7 @ #-H € 9 ¥ § T e g 2 0
Which two months in a year have the same calendar ?
(1) 37, SRE / June, October (2) 3@, T / April, November
(3) =%=, 5% / April, July (4) sEER, fEFET / October, December,
NTSE{l)/ 14 - MAT | P10

www.examrace.com



MAT-1

39. AR #m Fy 1 vEen fGm wwan A, @ 9 = afed e fmem om0

If the first day of a leap year is Monday. then what day will be on the last day of

o ®

that vear 7
q9E ./ Wednesday
o'ER [/ Thursday

K@i”

(1]

W (41 - 45 ) /Questions ( 41 - 45 )

79| / Sunday
b TmeEr Tuesday

(12)

(2) wmEEr Tuesday

(4) WEAW / Sunday.

(2) HWET / Monday

4) ¥HHaw / Wednesday.

At At 14 feren, 2013 9 wifEw #, @ 22 fegmn, 2014 #1599 =7 @ 2
' 14th September, 2013 is Saturday. then what day will be 22nd December, 2014

e : w1 418 459 vl # 9 o el 2 & 1 o @ v faw v fadl @ A
am § | 3 i w1 9 ifag |
Direction : In questions 41 to 45 there are four figures given. One ol these does
not correlate with the rest of the figures. Find out that figure.

D(él.

£

(1)

42,
(1) (3)
x =1 N1
43. 223 @)
8 0 =
(1) 2) (3) (4)
K + | A $ A | w
~ o ~| O < | = w | T E
X®
Rt (2) i3) (4
> | X
(1) (2 (3)
NTSE(ll/ 14 - MAT i
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" ['iﬂ-ﬁ-ﬂlfﬂuuum{iﬁ—ﬁu}
B3 w469 504 fopst 1
FEd § lm-hﬂwﬁﬁw%mwrﬁm%
T8 F 2, S wwen- Tl & wrarrEn amit wirey o w%

. Direction : In questions 46 to 50
Problem-figures while the other has answe
‘which the problem- -figures are arranged. Y

answer-figures which can be placed in seq
out the correct ligure,

46. TEE-fam Problem-Figures

ou have to seleet one figure from

MAT-1

gy ¥ o v e ey fiy 5 T FH T -y
|-marﬂm-f%rﬂ’rﬁﬁwiﬂﬁﬁam
| 98T T-Fam 9 3 =i

there are two sets of figures. One set contains

swer-figures. There is o Sequence according (o

Lthe sel of

uence after the set of problem-figures. Find

Fwm-fag Answer-figures.

/1N A

A

A\

A

(1) (2) (3) (4}
47. HHE-fam / Froblem-figures

(1)

(2) (3)

{4)

F-fag Answer-Figures,

QDA [E]L]a]A]
{1) (2) (3) (4 (1) (2) {3) (4)
48. wHEn-faz 4 Problem-figures SW-F4 / Answer-figures.
% Ll A 1Tw 7 AN | HY IRy 7 ﬂ
A tA Vv dlw 9 vV _#la tla 1t 1*[
(1) (2) (3) (4) (1) (2) (3) (4)
49, TuEm-fay Problem-figures IW-fa3 Answer-figures.
t_OP__+IT PO T PP T+ . Olo 'I‘]
9,,048..0,| .0 ele
(1) (2) (3) (4) (1) (2) (3]

50. wwEm-fam 4 Problem-figures

(4)

IW-fa3 Answer-figures,

.

N

5

A

Y|

A

(1)

(2)
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